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Time: 2 1/2 hrs. Marks:75

Note: 1. All the questions are compulsory.

2. Figures to the right indicate full marks.

el Answer any TWO of the following: (15)
Income method of measuring national income.

Phases of trade cycles.

ol

Circular flow of national income in an open economy.

5 Answer any. TWO of the following: : (15)
- Basic postulates of Say’s law of market.

Limitations of multiplier.

L

If MPC is 0.6 and initial increase in investment is Rs.50,000, then find increase
in income.

w

Answer any TWO of the following: (15)
Determinants of money supply. ' -

Motives of demand for money.

0w o

Effects of inflation.

o

Answer any TWO of the following: (15)
Difficulties involved in measuring National Income. '

Principle of Effective Demand.
Functions of money.

Answer any TWO of the following: (15)
Importance of macro-economics.

Consumption function with the help of diagram.

Gl el R
w

Types of inflation.
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